Beilage 4a}

BELASTUNGSVERGLEICH AG — EINZELKAUFMANN

BERN

Rendite: 12 %

Eigenkapitalquote: 60 %

Bruttolohn: 60000

" Prozentuale Differenz AG — Einzelkaufmann
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BELASTUNGSVERGLEICH AG — EINZELKAUFMANN

BERN

Rendite: 12 %
Eigenkapitalquote: 60 %
Bruttolohn: 240000
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BELASTUNGSVERGLEICH AG — EINZELKAUFMANN

BERN

Rendite: 12 %
Eigenkapitalquote: 40 %
Bruttolohn: 60000
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BELASTUNGSVERGLEICH AG — EINZELKAUFMANN

BERN

Rendite: 12 %
Eigenkapitalquote: 40 %
Bruttolohn: 120000
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BELASTUNGSVERGLEICH AG — EINZELKAUFMANN

BERN

Rendite: 12 %
Eigenkapitalquote: 40 %
Bruttolohn: 240000
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BELASTUNGSVERGLEICH AG — EINZELKAUFMANN

BERN

Rendite: 12 %
Eigenkapitalquote: 20 %

Bruttolohn: 60000
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Rendite: 12 %
Eigenkapitalquote: 20 %

Bruttolohn: 120000
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